EARAZROREIERT — 2 N—XBISY —F 2015511248 (A) 14E1%#1H

m@%%%u B1 5% (xwlw | lmEmml - |5 @) w8
[AE4€] 1 %:20,00MH ~ 2#%&:5800MH ~ 3#&:2,000H / 4%:0M / 5%&%:0H
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. “ > EHKRE 144, -3-4- . — EAB— (1)
, 3| A=Y 5 > 5 S 1(431)2 4-3-4-5 |38.8 1 (4_516) osiied 2
L4 —I TlLh B:vI-XTV1Il)— (B) HBEa-KL—-—ra>aEI77
= 4 3 | RINAR 1:44.2 1-1-1-1 [ 39.2| — 5 420 | REBEEZE (5H1)
2l7lg|77F3 54.0 (7 £) -y |mlE
L:FqN—=hHh)— B:3I% BREHEBS
— " o4 | WTHZ 1:44.4 6-6-4-5 |39.0 | — 2 486 | EEFEE) (S42)
389 | Tv¥IYEOY 56.0 (1 1/2) (c1) | AHRH
L2914 T hALY N BTFY /04 TJ7=Z—klNT7—L
— N 7 ER g : —7-7- — IEEEfR (5HR)
a1l |Frar =2 i 7 Ll 1(;:11:;5 7-7-7-7 | 38.9 10 (4_4;9) ki A
L:2v2v3ay B:wLIYEeRx TS
— = B4 | BEREE 1:44.8 2-2-2-2 | 39.7| ~— 7 456 | JIIUBBLE (5£42)
5(5/5¥3¥-7I1h 54.0 1 172) o | ) Bk
L:ZB8Fa—FTUNF¢ HB:aaxy BiES S
= BlsFit 144, —5-4- . — FILERE (S0
6lgliol Vv 727%F 5 4 54.0 1(14/4@9 MR ¢ ?:2) Ei%i% 8
AL T7AT7 BTATAHTS TR BE
N TEARE= . -9-8-— — ILBRE = (%44)
, NS s r o4 T 1.(425>.3 9-9-8-8 | 39.5 9 <4+821) i A
R:22—-U>70-X B:XX¥FIHA Wt hFILZ &y K
. — 5 B4 | ALK 1:45.5 3-4-3-3 | 40.3| — 3 477 | JUBBLE (S£42)
8l7|7 J—-I7F>7zxH— 54.0 (1 1/2) 0 I8 (R ES g
XL THANAN BLTFoNA—F PR 4%
. o4 EIE=S 1:46.0 8-8-9-9 |40.0| — 6 466 | FLEEE (BHE)
9 6 HowILT4—7 56.0 (2 1/2) 0 #E%%L
AR v T4 —0 BH T oY — b
oS i 4 | RERZ 1:47.5 10-10-10-10{ 40.5 | — 8 460 | HIsHHER (5242)
10BY 2| AV —/81 > 54.0 @ (c13) | (B) H=257
LNAFvRE— B:ov N1 T7RE B &HXE
® 1—F—@EBIERL
1T=7r= 8,5,7,3,10,9,1,6,4,2
23— — 8,5,3,7,10,9,1,6,4,2
Ja=5= 8,5,7,(3,9,10),1,4,6,2
43—+ — 8,5,(7,10),(3,9),1,4,6,2
[ N5
B 3 150/ 714K 3-8 270 e E 3-7 300 JEE 3-8-9 630M
B B 3 1004 3-9 150H B = 3-8 700M EE 3-8-9 2,830
8 1909 8-9 440M B H 3-8 830M
9 1209

ABICOVWTRDTEEERROODE. TR LIV,



